

Invoice

Date	Invoice #
7/31/2019	2019-051

Bill To

Lower Minnesota River Watershed District 112 East Fifth Street Suite 102 Chaska, MN 55318 Attn: Linda Loomis

		Terms	
		Net	30 Days
Description	Hours	Rate *	Amount
Services Provided from April 1, 2019 - June 30, 2019			
TASK 1 - A-F			
Eagle Creek Water Quality Monitoring	15	56.75	851.25
Eagle Creek - Thermal Monitoring	4	67.00	268.00
Water Quality Flow - Dean's Lake	20	61.75	1,235.00
Well Monitoring	10.5	57.50	603.75
Courier		34.62	34.62
Metropolitan Council Lab Analysis		1,350.50	1,350.50
TASK II			
Technical Assistant	10	64.50	645.00
Cost Share Projects		250.00	250.00
*Rates may be averaged for activities performed by multiple staff	Subtotal		\$5,238.12
<u>Please Send Payments To:</u> Scott Soil and Water Conservation District	Sales Tax (6	Sales Tax (6.875%)	
	Total		\$5,238.12
7151 West 190th Street Suite 125	Payments/Credits		¢0.00
	rayments/C		\$0.00
Jordan, MN 55352 952-492-5425	Balance D	ue	\$5,238.12



Lower Minnesota River Watershed District 2019 Scott SWCD Budget Summary of Services as of 6/30/2019

		Billed to Date	Balance
	Budget	as of 6/30/2019	as of 6/30/2019
Task I			
Water Quality and Flow - Eagle Creek	\$7,600.00	\$3,003.87	\$4,596.13
Water Quality and Flow - Dean Lake	\$6,900.00	\$2,208.25	\$4,691.75
Eagle Creek - Chlorides Monitoring	\$7,400.00	\$4,077.38	\$3,322.62
Well Monitoring	\$2,300.00	\$838.25	\$1,461.75
Thermal Monitoring	\$2,900.00	\$1,015.00	\$1,885.00
Reporting	\$2,300.00	\$1,541.00	\$759.00
Task II			
Technical Asst & Cost Share	\$4,000.00	\$742.50	\$3,257.50
Cost Share	\$2,200.00	\$250.00	\$1,950.00
Task III			
Education & Outreach	\$4,100.00	\$0.00	\$4,100.00
Task IV			
Other Services	\$750.00	\$212.50	\$537.50
Consultated	440.05		
Grand Total	\$40,450.00	\$13,888.75	\$26,561.25



SCOTT SOIL AND WATER CONSERVATION DISTRICT

"Helping Scott County Citizens Protect and Preserve Natural Resources since 1941"

July 31, 2019

Ms. Linda Loomis Lower Minnesota River Watershed District 112 East Fifth Street Suite 102 Chaska, MN 55318

Dear Linda:

The Scott Soil and Water Conservation District hereby requests payment of funds in the amount of \$250 for cost share contracts. The contracts approved under this request are included on Attachment 1.

Please do not hesitate to call if you have any questions or need further information.

Thank you.

Sincerely,

Shelley Mits

Shelly Tietz Administrative Clerk

c: Troy Kuphal, District Manager

Lower Minnesota River Watershed District

General Cost Share Projects

Namo	Practice	Amount
Sue Sornsen	Raingarden	\$250
TOTAL		\$250